Pa rtS I|St (According to the actual size; each type of screw and gasket have a spare)

|

A B

Mechanism *1 pc

D4

[=d o

Armrest*1 pair

©O00O00
©OO0
©O0 ©

Samll shim 10+1 pcs

11}

Bace*1 pc

= )

Backrest*1 pc

@@

Castores*5 pcs

PRODUCT
INSTALLATION
GUIDE

Headrest*1 pc

L

Seat cushion*1 pc

Hex wrench*1 pc Big shim 3+1 pcs Gaslift1 pcs Back plate screw (M8*45) 3+1pcs
Armrest screw / mechanlsm screw (M6*20) 10+1pcs
cm

5! 6 7 8 9
||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||
Note: before installing the chair, please sort the screws and measure the screw length for installation.

‘;\“" Installation diagram

vy |

(subject to actual size)

1 HI i o

= =
O[] =20
ol = =

~ -

Fix the armrest to the seat cushion with 6pcs
samll shim and 6pcs(M6*20)screws, Pay
attention to distinguish before and after.

Put the castor into the base 9 Insert the gaslift to the base.
by pressing.

SIZE: 64*64*110(132)

Fix the mechanism to the seat cushion with
4pcs small shim and 4pcs(M6*20)screws,Pay
attention to distinguish before and after.

Fix the back plate to the seat
cushion with 3pcs big shim and
3pcs (M8*45)screws.

Put the upper part of chair to
the gas lift.

=

0 Fix the headrest to the backrest .




g(} Function diagram (subject to actual size)

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

777777777777777777 Lumbar support

3D armreat(height, e plilie gt adusiisn

" horizontal, forwardand t------
© backward adjustment)

‘Backrest tilt angle adjustment :
¢ Seatheightadjustment ~ |---——#29
| Backrest tilt provides three !
: gear options

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

© Backrest tilt tension !
~----- . adjustment

¢ otight eloose




